Indicator name : OIH_TMAS AL
Hello,
OIH_TMAS_v3 indicator uses the slope of v1 of OIH_TMA NEW indicator.
It is working well now, but I hope this indicator has more functions.
OIH_TMA NEW indicator shows 3 lines - upper, middle, and lower.
OIH_TMAS_v3 indicator uses only v1 of OIH_TMA NEW.
I hope that it uses all lines upper, middle and lower for calculating the slope.

The calculations are as following below.
①When v1(middle line) of OIH_TMA NEW increased from 1st previous value to current value
                                       &&
  v2(upper line) of OIH_TMA NEW increased from 1st previous value to current value
                                       &&
  v3(lower line) of OIH_TMA NEW increased from 1st previous value to current value

Then it will have value of 1.0 at sub_window and show a DodgerBlue colored bar at sub_window, and it will show v1(up) = 1.0 on Data Window likely as OIH_TMAS



② When v1(middle line) of OIH_TMA NEW increased from 1st previous value to current value
                                       &&
  v2(upper line) of OIH_TMA NEW was equal to previous value or decreased from 1st previous
  value to current value
                                       &&
  v3(lower line) of OIH_TMA NEW increased from 1st previous value to current value

Then it will have value of 1.0 at sub_window and show a Gold colored bar at sub_window, and it will show v3(flat) = 1.0 on Data Window likely as OIH_TMAS



③ When v1(middle line) of OIH_TMA NEW increased from 1st previous value to current value
                                       &&
 v2(upper line) of OIH_TMA NEW increased from 1st previous value to current value
                                       &&
  v3(lower line) of OIH_TMA NEW was equal to previous value or decreased from 1st previous
  value to current value
Then it will have value of 1.0 at sub_window and show a Gold colored bar at sub_window, and it will show v3(flat) = 1.0 on Data Window likely as OIH_TMAS



④ When v1(middle line) of OIH_TMA NEW decreased from 1st previous value to current value
                                       &&
  v2(upper line) of OIH_TMA NEW decreased from 1st previous value to current value
                                       &&
  v3(lower line) of OIH_TMA NEW decreased from 1st previous value to current value

Then it will have value of 1.0 at sub_window and show a DeepPink colored bar at sub_window, and it will show v2(dn) = 1.0 on Data Window likely as OIH_TMAS



⑤ When v1(middle line) of OIH_TMA NEW decreased from 1st previous value to current value
                                       &&
  v2(upper line) of OIH_TMA NEW was equal to previous value or increased from 1st previous
  value to current value
                                       &&
  v3(lower line) of OIH_TMA NEW decreased from 1st previous value to current value

Then it will have value of 1.0 at sub_window and show a Gold colored bar at sub_window, and it will show v3(flat) = 1.0 on Data Window likely as OIH_TMAS



⑥ When v1(middle line) of OIH_TMA NEW decreased from 1st previous value to current value
                                       &&
  v2(upper line) of OIH_TMA NEW decreased from 1st previous value to current value
                                       &&
  v3(lower line) of OIH_TMA NEW was equal to previous value or increased from 1st previous
  value to current value


Then it will have value of 1.0 at sub_window and show a Gold colored bar at sub_window, and it will show v3(flat) = 1.0 on Data Window likely as OIH_TMAS

Conclusion
The way of calculation is just same as OIH_TMAS, but this indicator that I request uses more lines - upper(v2) and lower(v3) line.
And when all the slope of lines are in same direction based on v1(middle line of OIH_TMA NEW), then it will show "v1(up)" / "v2(dn)" on Data Window, and it will show a bar(DodgerBlue / DeepPink) at sub_window likely as OIH_TMAS.
The aim is to check the slope of all lines(v1, v2 and v3) at the same time.


General Requirements
1. MTF(Multi Time Frame)
2. ISM(Inherit State Mode)
3. it should work properly with no OIH_TMAS
4. it needs below extra functions because it uses all lines(v1, v2 and v3).
  - "ATRMultiplier", "ATRPeriod" and "Interpolate"
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How to check the strength of the slope

It will use 3 bars to check the strength of the slope.
Using 2 bars can check only the slope – increased / decreased from 1st previous candle to current candle.
But using 3 bars can check the slope, and also the strength of the slope.
The calculations using 3bars to check the strength of the slope are same as following below.

①When v1(middle line) of OIH_TMA NEW increased from 2nd previous value to current value
                                       &&
  v2(upper line) of OIH_TMA NEW increased from 2nd previous value to current value
                                       &&
  v3(lower line) of OIH_TMA NEW increased from 2nd previous value to current value

Then it will have value of 2.0 at sub_window and show a SlateBlue colored bar at sub_window, and it will show v4(up) = 2.0 on Data Window likely as OIH_TMAS



② When v1(middle line) of OIH_TMA NEW increased from 2nd previous value to current value
                                       &&
  v2(upper line) of OIH_TMA NEW was equal to previous value or decreased from 2nd previous
  value to current value
                                       &&
  v3(lower line) of OIH_TMA NEW increased from 2nd previous value to current value

Then it will have value of 1.0 at sub_window and show a Gold colored bar at sub_window, and it will show v3(flat) = 1.0 on Data Window likely as OIH_TMAS



③ When v1(middle line) of OIH_TMA NEW increased from 2nd previous value to current value
                                       &&
 v2(upper line) of OIH_TMA NEW increased from 2nd previous value to current value
                                       &&
  v3(lower line) of OIH_TMA NEW was equal to previous value or decreased from 2nd previous
  value to current value

Then it will have value of 1.0 at sub_window and show a Gold colored bar at sub_window, and it will show v3(flat) = 1.0 on Data Window likely as OIH_TMAS



④ When v1(middle line) of OIH_TMA NEW decreased from 1st previous value to current value
                                       &&
  v2(upper line) of OIH_TMA NEW decreased from 1st previous value to current value
                                       &&
  v3(lower line) of OIH_TMA NEW decreased from 1st previous value to current value

Then it will have value of 2.0 at sub_window and show a MediumOrchid colored bar at sub_window, and it will show v5(dn) = 2.0 on Data Window likely as OIH_TMAS



⑤ When v1(middle line) of OIH_TMA NEW decreased from 2nd previous value to current value
                                       &&
  v2(upper line) of OIH_TMA NEW was equal to previous value or increased from 2nd previous
  value to current value
                                       &&
  v3(lower line) of OIH_TMA NEW decreased from 2nd previous value to current value

Then it will have value of 1.0 at sub_window and show a Gold colored bar at sub_window, and it will show v3(flat) = 1.0 on Data Window likely as OIH_TMAS



⑥ When v1(middle line) of OIH_TMA NEW decreased from 2nd previous value to current value
                                       &&
  v2(upper line) of OIH_TMA NEW decreased from 2nd previous value to current value
                                       &&
  v3(lower line) of OIH_TMA NEW was equal to previous value or increased from 2nd previous
  value to current value


Then it will have value of 1.0 at sub_window and show a Gold colored bar at sub_window, and it will show v3(flat) = 1.0 on Data Window likely as OIH_TMAS
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